21PS Sellable Fasteners (Low Value Items) - Lot 001

. Total Cost
Description Excess
(Book Value)
WELD ELEMET M5 124 R 4,712.00
SCREW CSK HD M8*30 59 R 3,617.29
SCREW CAP SKT HD M10X25 1149 R 3,401.04
ADJUSTER BOLT 28 R 3,080.00
NUT PLAIN HEX M26X1.5 199 R 2,831.77
CLAMP PIPE 6 MM DIA RUBBER 435 R 2,597.19
BOLT M20X1.5X200 GR 8.8 24 R 2,158.80
SCREW SKT HD CAP M12X30 570 R 2,141.90
SCREW SOCKET CAP M12 X 60 (Z 88 R 2,019.56
NUT M20 96 R 1,885.98
SCREW HEX HD SHOULDER M16 8 R 1,785.20
CAGE NUT CN SERIES M5X0.8 425 R 1,657.50
BOLT HEX HD M6 X 1 X 65MM 49 R 1,552.81
SCREW HEX HD M12 X 1,75 X 35MM 84 R 1,349.04
SCREW CAP HEX SKT FINE M12 X 1 16 R 1,348.64
WASHER BELLVILLE 1D16.3XOD40X1 40 R 1,235.60
SCREW SKT BOTTOM HD M10X40 280 R1,166.13
SCREW SHOULDER SPECIAL 8 R 1,076.40
SCREW HEX HEAD 55 R 1,066.68
BOLT HX HD M20 X 120 X 1.5 GRD 30 R 1,028.30
LOCKNUT FLANGE CONE 1/2 - 13 315 R 1,014.98
SCREW HEX SOCKET HEAD CAP M14 28 R 978.60
BOLT SHOULDER DIA12-M10 10 R 976.00
SCREW HEX HD M16X2X35 31 R 954.80
NUT PLAIN HEX M8 19 R 819.04
WASHER CAR BODY LARGE EXT.DIA 768 R 760.32
SCREW HEX HD M16X35 177 R 737.91
SCREW CAP SOCKET HD M8 X 20MM 1426 R 715.23
SCREW HEX SKT CSK HD M4 X 16 494 R 686.66
SCREW CSK SKT HD M6X1X12LG 22 R 685.72
SCREW HEXHD M6 X 1 X 12 907 R 680.25
BOLT HEX HEAD M14X1,5X65 34 R 663.45
SCREW HEX HD M20 X 130LG 8 R 662.00
NUT NYLOC M10X1.25 GR8 360 R 622.80
BANJO-BOLT M18 X 32 X 1.5MM 30 R 615.30
PIN SPLIT 88 R571.12
SCREW SKT.HD.M6,X50 369 R 553.50
SCREW HEX SKT HD CAP M8X40 46 R 550.62
SCREW GRUB M8X1,25X20 23 R 520.95
BOLT HX HD M20 X 115 X 1.5 GRD 10 R 507.90
ELEMENT WELD M8 X 1.25 X 15 20 R 479.60
SCREW HEX SKT HD CAP M5X10 S/S 92 R 473.80
BOLT ALT 1 R 450.00
NUT CASTLE M28 2 R 445.26
WASHER 214 R 363.80
SCREW HEX HD 237 R 331.80
SCREW CAP HEX SKT 12.9X55 341 R 330.79
STAINLESS STEEL RIVET 85 R 323.00
SCREW HEX HEAD M8X25LG 51 R 296.82
BOLT HEX HD M20 X 120 10 R 288.08
BOLT MACH. HEX HD M16X30 40 R 276.00
SCREW HEX HD M16 X 2 X 60MM 41 R 267.87
BOLT HX HD M20 X 120 X 1.5 GRD 7 R 254.30
BOLT HEX M16 X 90 8.8 (Z/P) 13 R 245.98
SCREW CAP SKT HD M10X1,5X40 18 R 236.70
WASHER FLAT LARGE DIA 3 87 R 230.55
CIRCLIP-29 X 1.5 TO DIN 471 48 R 230.25
BOLT HX HD M20 X 70 X 2.5 GRD 11 R 216.88
SCREW RAISED CHEESE HD M4 X 40 98 R 215.60
SCREW HEX SKT HD M8X35 7 R 207.69
SCREW HEX SKT HD CAP M 9 R 206.37
PIN LOCKING ASSY 1 R 204.90
SCREW CAP SKT HD M12X1.75X35 16 R174.24
BOLT HEX M12 X 75 42 R 170.10
SCREW HEX HD M12*65 GR 8.8 26 R 168.74
SCREW HEX HD M10X30 50 R 162.50
SCREW DRIVER 4X100 5 R 160.35
BOLT HEX M24 X 2PX 100LG 4 R 159.96
HOSE CLIPS WORM DRIVE (RANGE 4 19 R 154.38
1of3

7/17/2018



21PS Sellable Fasteners (Low Value Items) - Lot 001

EQUAL ELBOW 7 R 154.07
SCREW SKT CAP M6 X 18 28 R 153.72
SCREW HEX HD M6 X 30 3 R 144.70
SCREW HEX SKT HD CAP M12X35 10 R 138.90
RIVET DIA 4X12 902 R 135.30
SCREW SELF DRILLING HEX HD 102 R 122.40
NUT NYLOCK M10 X 1.25 GR 8 40 R 118.80
SCREW SKT HD CAP M16X55 8 R 116.00
NUT, WING M8 4 R 115.80
SCREW HEX HD M6X65 S/S 42 R112.98
SCREW HEX HD M16*35 GR 10.9 17 R111.86
CLAMP DIA 30 MM 13 R 110.50
RIVET SNAP HEAD DIA 4 (20X4.1) 482 R 106.04
SCREW PAN HEAD M5X20 77 R 104.86
SCREW SKT HD CAP M16X100 2 R 103.90
SCREW CAP M8X1.25X20 84 R 100.17
SCREW HEX SKT HD CAP M5 X 16 81 R92.91
ANTI-LOOSE THREADED 35 MM LONG 8 R92.24
NUTSERT M6X1 52 R 91.00
LOCK WASHER 17 R 87.55
BOLT MACH. HEX HD M16X30 10 R 83.00
WASHER FLAT DIA 15 5 R 82.85
WASHER COPPER 17 R 82.79
SCREW HEX SKT HD CSK M16 X 60 6 R 81.06
BOLT M14 X 90 4 R 80.80
SCREW PAN HD M5 X 0,8 X 10 645 R 79.49
SCREW SKT BOTTON HD M4X16 29 R 78.88
SCREW HEX HD M16X1,5X45 9 R 78.75
WASHER,BELLVILLE,16,3ID X40 OD 4 R 73.60
SCREW HEX SKT HD CAP M4 X 40 49 R73.01
SCREW CAP SKT HD M8 X 16MM 50 R 72.50
SCREW HEX SKT HD CAP M8 X 50 40 R72.12
BOLT HEXHD M14 X 75 X 1.5 GR8 4 R 71.80
NUT HEX M10X1.5 7 R71.79
SCREW HEX SOCKET HEAD M3 Z/PLA 71 R 71.00
NUT CLEVLOC M20 GR8 4 R 66.39
SCREW HEX HD M8X1,25X16 2 R 63.58
SCREW CAP ALLAN M8 X 16 X 1.25 40 R 62.80
SCREW HEX HD (FORGED) M14X45 6 R 59.70
SCREW CSK M4 X 12 84 R57.96
BOLT SPECIAL M14X90X1.5 GRD10. 3 R 57.38
SCREW HEX HEAD M8X60 1 R 55.95
SCREW HEX HD M6 X 1 X 40MM 94 R 55.46
BOLT HEX HD M14X60 4 R 55.00
PIN SPRING DIA 6 X 36 30 R 54.30
WASHER SEALING 90 R 54.00
SCREW M20 X 40 GR8.8 4 R 53.43
NUT NYLOCK M6 48 R 50.88
WASHER SPRING M20 30 R 49.50
NUT HEX PLAIN M4X0,7 98 R 49.00
WASHER FLAT 8 X 19 X 2 46 R 48.30
PIN SPRING 53 R 45.99
SCREW SELF TAPPING 45 R 45.00
BONDED FACE SEAL (DOWTY WASHER 9 R 44.10
NUT HEX HD M10 46 R 43.70
CIRCLIP INTERNAL 13 R 42.97
AUTOWIRE GRN/BLK 1.6 25 R 42.50
SCREW HEX HD M6X16 S/S DIN 933 46 R 41.40
SCREW HEX SOCKET BUTTON HD M10 9 R41.31
SCREW HX HD M14 X 45 X 2 GRD 8 6 R41.10
NUT HX M20 X 2.5 GRD 8 8 R 40.75
SCREW HEX HD M10 X 1,5 X 60MM 11 R 40.15
SCREW CHS HD M6X12 200 R 40.10
SCREW GRUB M6 X 1 X 10 7 R 39.99
WASHER HEAVY DUTY M8 TO DIN634 8 R 39.11
SCREW CHEESE HD M3 X 0,5 X 16M 193 R 38.60
PIN COTTER DIA 4 X 36 63 R 38.43
SCREW CSK M10 32 R 38.40
SCREW HEX HD M12X35 9 R 37.46
NUT SELF LOCKING M8 12 R 34.57
PIN SPRING DIA.3X18 LONG 40 R 34.00

20f3

7/17/2018



21PS Sellable Fasteners (Low Value Items) - Lot 001

BOLT HEX HEAD FORGED M16 Z/PLA 2 R 32.98
WIRE GRY RED 1.6MM 18 R 32.58
SCREW HEX HD M12 X 1,75 X 55MM 8 R 30.80
SCREW HEX HD M12 X 1,5 X 25MM 12 R 29.88
SCREW HEX HD M5 X 10 50 R 29.00
STUD MALE STRT GE 8-PLM/M12 X 4 R 28.80
SCREW CHEESE HD M3 X 0,5 X 25 122 R 28.06
SCREW CHEESE HD M5XO0,8X12 130 R 27.30
SCREW HEX HD M12 X 1,75 X 80MM 5 R 26.45
CIRCLIP EXTERNAL DIA 8 57 R 25.08
SCREW HEX HD S/S M6 X 25 13 R 24.70
BOLT HEX HD M14 X 80 4 R 23.48
M4 WASHER LOCK 89 R 21.65
E-CLIP SHAFT DIA 9-12 51 R21.42
SPLIT COTTER PIN STEEL 5 X 63 32 R 20.80
R CLIP DIA..4 4 R 20.61
SCREW HX SKT CSK HD M5 X 35 (A 9 R 20.61
SCREW SKT.HD. BUTTON M5X12 8 R 19.03
ROLL PIN DIA 4X16 LG 20 R 19.00
SCREW HEX HD M12 X 50 4 R 18.76
NUT LOCK M8 X 1,25 87 R 18.27
SCREW HEX.HD.M12X1.25X40 GR.10 2 R 17.96
BOLT HX HD M10 X 50 X 1.5 GRD 4 R 17.79
SCREW CHEESE HD SLOTTED 133 R 17.29
SCREW CSK SKTHD M8 X 1.25 X 2 10 R17.10
BOLT HX HD M12 X 130 X 1.75 GR 2 R 16.40
SCREW HEX SKT HD CAP M10 X 20 7 R 15.96
SCREW CHEESE HD M4 X 0,7 X 12M 88 R 15.84
WASHER RUBEER DIA 12X24X3 12 R 15.36
WASHER SPRING 20 X 4.4 X 4.4 7 R 15.35
WASHER SPRING M8 86 R 12.90
WASHER LOCK DIA 8 49 R11.27
PIN COTTER (FAN) 68 R 10.88
WASHER FLAT DIA 11,45XDIA22X2, 4 R 9.80
SCREW SKT HD CAP M10X40 2 R9.24
SCREW CHEESE HD M4 X 0,7 X 12M 47 R 8.46
HOSE CLAMP 12-20MM 1 R 6.90
SCREW HEX SOCKET HD CAP M5X20 8 R 6.24
INTAKE HOSE CLAMP DIA 20-32 2 R6.16
NUT HEX NYLOCK M6 7 R 5.95
WASHER FLAT DIA6 X 18 X 2 12 R 5.40
SCREW HEX HD M14 X 40 2 R5.15
SCREW HEX.HD. 7/16"UNF X 1" 2 R 4.90
SCREW CH HD M5 X 10 24 R 4.80
BOLT HEX HD M8X35 2 R 4.70
NUT HEX M3 77 R 4.62
RING RETAINING, INT, 45.0MM OD 2 R 4.38
NUT HEX M12 4 R 4.20
WASHER SPRING DIA 4 99 R 3.96
SCREW HX HD M6 X 45 GR 8.8 3 R 3.87
WASHER SPRING M20 4 R 3.28
WASHER FLAT M8 30 R 3.00
BOLT HEX HD M8 X 25 3 R2.67
NUT M10 2 R 1.56
CIRCLIP EXTERNAL DIA 15 2 R1.18
WASHER FLAT M8 DIN 433 4 R1.16
WASHER SPRING 11X19X2,5 2 R 0.58
WASHER FLATID 4 X OD 9 X 0.9T 4 R0.24
STUD MALE CONNECTOR GE12LR 100 R 0.00
Total R 69,701.45
30f3

7/17/2018


samkele.khumalo
Stamp


